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OB k) =0.0019, ky = 1.2°|t. =, 5587 2, (£) =0.0019sin4t +1.2cos 4t o] 2= AW
M z(t)=e "'V (€ c0s9.8t + Cysin9.8¢ ) +0.0019sin4t + 1.2cos4t ©]aL, z(0)=7/6,
v(0) =002 ¢ =—1/30, G, =—0.0008& Y=tk =, afarat sk & vhat 2.

z(t)=e "5 (—0.0333c059.8¢ — 0.0008sin9.8¢ ) +0.0019sin4t + 1.2cosdt

ol

i o] e AT @xlEe] de yEhWH, webM Azto]l Fs Addtetd 3t
=
o
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Section 10.4 H&5&EA|

1.

49) L[2t2+t+3]=/ (2t2+t+3)e *tdt = hm/ 2% +t+3)e *tdt

0 b— oo

(2’ +t+3 ar+1 4 \|" 3s2+s+4
=(=1)lim +—t || =5 >0
b—> oo s s s° ) 1 s
3.
49 L[sith]Z/ sin2te *'dt = hrn/ sin2te *'dt
0 b— oo
o 2—e " (2c082b +ssin2b) 2
= lim 5 =— , §>0
b oo s°+4 o s +4
5.
o b
49 L[e”sint}:/ lsinte *tdt = hm/ sinte” 72 gy
0 b— oo
1= D eosh + (s—2)sinb) | 1
= lim 5 = , s>2
b— oo s"—4s+5 0 s"—4s+5
7.
49 L[t""e””}z/ 225t qt = hm/ tPe 2B gy
0 b—
' 486 — ¢~ /3P (486 +162(35 — 2)b+ 27(3s — 2)2b + 3(3s — 2)%p°] |
= 11m
b— oo (38_2)4 0
1
= s > —
s°—4s+5 3
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9.

3 1 1 1( 1 1 )
19 = == - o|m
(s—2)(s—1)(3+1)(s+2) (52—4)(52—1) 3\s2—4 s2—1
L1 1 }1L_1[ 1 1 }
(s—2)(s—1)(s+1)(s+2) 3 s —4  s2—1
1 1 1
S G Ey S P}
3( s?—4 s2—1
:L LL*1 2 Ll[;}
312 s — 92 s*—1
(1 . T .
—(—stht—smht)—(s1nh2t—251nht)
312 6
11.
5 s—1 1( s 1 1 s )
49 =— — + — olm
(+1)(s%+4) 3\s2+1 $2+1 $*+4  $*+4

il e e )
(s4+1)(s>+4) 3 s?2+1  $24+1 P44 s2+4

1 1 s 1 1 1 . 2 . s
=—|\L 5 —L 5 +—L — L Ee—
3 s +1 s +1 2 2+ 92 s2 422

1
(cost —sint — ;sin2t +cos2t)

S

1
3
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